Nuclear Reactions e SOLu TIONS

State whether the following nuclear reactions are FISSION or FUSION
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b) 239 1,0 148 89 10
94Pu Al -> 58Ce + 36Kr +30n

210 4 206
c) 84Po -»> 2He + 82Pb

d) 18 197 215
8O + 79Au -> 87Fr

15 1 12 4
e) >N + 'H -> 2C + JHe

235 1,0 144 90 1,0
f) 92U +2n -> 55Cs + 37Rb +20n

14 4 17 1
g) 7N+2He -> 8O+1H

h 12 1 13
) 6C+1H97N+'y

i 239 235 4
) 94Pu - 92U + 2He

244 48 289 1,0
) 94Pu + 20Ca -> 114FI + 30"

26 1 4 23
k) Mg + IH > ;He + 2Na

1) 247 107 131 10
96Cm -> 44Ru + 52Te +90n

6] ; 6]; 12
m) Li + B -> 2C

n) 239 1m0 204 31 10
94Pu +on -> 79Au + 15P +50n




